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H= (S &)
XX .22 - 3H .G - ARAMY - HES HECXENH A=H Hws2
Arei 4,841,957 5,619,966 778,009
= 4,841,957 5,619,966 778,009
T2 X4 L 2F2EX A 245 2,100 2,100 0
oMY X R(DEFAREDIZ) 2,100 2,100 0
|I22gao s 29 2,100 2,100 0
201 et 2,100 2,100 0
01 ArR2eldl 2,100 2,100 0
I22240AAS| B LG 70,0002+381+ 10 210
rE (YA SHAI 4,839,857 5,617,866 778,009
LIS HRHR B(L S AR EDIZ) 2,000,000 2,500,000 500,000
S 2,000,000 2,500,000 500,000
704 OIE2 2,000,000 2,500,000 500,000
o olem 2,000,000 2,500,000 500,000
sstoieD2 o2 2,500,000

1N E( D3 YAREI|D) 2,839,857 3,117,866 278,009
OIXI 2 2,839,857 3,117,866 278,009
602 Ol X2 2,839,857 3,117,866 278,009
01 ox=2 2,839,857 3,117,866 278,009
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